60-s bins
1.00
0.75 1
0.50 o
0.25 1
000 Seds [FTey
0 000 .00.000
00 00. 00 200:00:9%°90:00-
2024-04 zsoﬂ 8 253%} 08 25T18 R.25119"
Time (utc)
60-s bins
1.00
0.75 o
0.50
0.25 1
0.00
0 000 000
00 00. 00 200:00:9%°90:00-
10280423138 08 zzsg%} RS ETERE
Time (utc)
60-s bins
1.00
0.75 o
0.50
0.25 1
0.00
00 000 000
70000080000 00:00-
202404 zsoﬂ 8- 233%4 04~ 25T1 525119

Time (utc)

Latitude

Latitude

Latitude

| |
umN o NoUn
o »n o U o

60161400002 FPMB: No SAA Filter

10.09-ks, 100%

N _.-'
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=0OPTIMIZED --tentacle=no  9.92-ks, 98%
—
o
."‘ .-'; -
oS .
. ] - ._,-I' i
] ra l-;
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=0PTIMIZED --tentacle=yes 9.92-ks, 98%

":._‘L"'-__ e N -~ p
T 1-"-. . A
N N S
T S
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.00
0.75
0.50 —1
0.25
0.00 Y. .y, ATy
202404251301 O 157(}274084 25(%%% 00:00:110:

Time (utc)
60-s bins

W

0.000 0. ooo
% O 15T0127 AoéJAost 1{3 :00; 7_5T19 0

Time (utc)
60-s bins

_

716:0!
2024-042%) 570

T17 0

20280425 26A 515 024-04-2%)374-04-257

Time (utc)

Latitude

000 100:00.000

Latitude

0:00.000

Latitude

0:00. 018 00 00. 019 00:00.000

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

w
=)

N
w

o
<)

|
N
[§]

|
w
)

60161400002 FPMB: No SAA Filter

10.09-ks, 100%

_}:{‘Th__::--' o
- " -
P
al i 5
- L L,
h - - - -
b . -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=no  8.91-ks, 88%
_}:{‘Th__::--' o
_.-' L a " 'fr.
-'1 i s
. . _-l' L
. e s
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=yes 8.91-ks, 88%

. - 4 ,,__ L"-._L ot
| ._‘__ , %,
=3 ."'I'.‘ """__ -\'_ - . ='-
., n . - L
_ '\‘__ Sy LY T
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.00
0.75 - ©
2
0.50 —1 ®
-
0.25
0.00 Y. .y, ATy
000 000 0.000
202404251051 i 15T3’27A°§4 25“28 (00,00 719:00:0

Time (utc)
60-s bins

1.00
0.75 K
2
0.50 =
-
0.25 4
000 Y. ey [TV
000 000 000
024-04- zszTozﬁA 04~ 15T0127A0&0§5T1§ :00; 95119 :00:00
Time (utc)
60-s bins
1.00
0.75 K
2
0.50 =
-
0.25 4
000 Y. ey [TV

0000 0000 0:00.000
2024-04-25] 26A 04- 15T0127A00 i 251123 002 57119:0

Time (utc)

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

w
=)

N
w

o
<)

|
N
[§]

|
w
o

60161400002 FPMB: No SAA Filter

10.09-ks, 100%

--saacalc=2 -saamode=0PTIMIZED --tentacle=yes

_}:{‘Th__::--' o
- " -
P
" o
- L L,
h - - - -
b . -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=0PTIMIZED --tentacle=no 10.09-ks, 100%
_}:{‘Th__::--' o
-.- =._ T ' - .’
. " rl,-’ i
" o
- L L,
", - - s
b . -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10.09-ks, 100%

. - 4 ,,__ L"-._L ot
| .,_'__ , %,
| .,\ '-,‘_1 " " . r
. - w -
A Yy, -, 4 -
i W e, Ty s .
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.00
0.75 - ©
2
0.50 —1 ®
-
0.25
0.00 Y. .y, ATy
000 000 0.000
202404251051 i 15T3’27A°§4 25“28 (00,00 719:00:0

Time (utc)
60-s bins

1.00
0.75 o e
o 2
.50 =]
3

0.25 o

0.00
00:00: 000 .00:00: 000 00" 00.000
2024-04 25;024 M zs;ég A0k~ 25113 25119
Time (utc)
60-s bins

1.00
0.75 o e
o 2
.50 =]
3

0.25 o

0.00
0
00000 00000 000000
207_4_0/; 25T024 04 25;(}’% 08~ 25T17? 425119

Time (utc)

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

60161400002 FPMB: No SAA Filter

10.09-ks, 100%

;-:{:}-.__::-ﬁ o
- " -
P
al i 5
A
5 - “ -
b . -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no  8.63-ks, 86%
;-:{:}-.__::-ﬁ o
_.-' S " 'fr.
-'1 i ra
. . L
. e
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 8.63-ks, 86%
-?‘f-.}r"'“-.’" T ]
- A T o -
. -.___ -, ~, rl,-’
- LN - -
_ Ta, Ma LY .
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.00
0.75 - ©
2
0.50 —1 ®
-
0.25
0.00 Y. .y, ATy
000 000 0.000
202404251051 i 15T3’27A°§4 25“28 (00,00 719:00:0

Time (utc)
60-s bins

1.00
0.75 K
2
0.50 =
-
0.25 4
000 Y. ey [TV
000 000 000
024-04- zszTozﬁA 04~ 15T0127A0&0§5T1§ :00; 95119 :00:00
Time (utc)
60-s bins
1.00
0.75 K
2
0.50 =
-
0.25 4
000 Y. ey [TV

0000 0000 0:00.000
2024-04-25] 26A 04- 15T0127A00 i 251123 002 57119:0

Time (utc)

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

w
=)

N
w

o
<)

|
N
[§]

|
w
o

60161400002 FPMB: No SAA Filter

10.09-ks, 100%

--saacalc=3 -saamode=0PTIMIZED --tentacle=yes

_}:{‘Th__::--' o
- " -
P
" o
- L L,
h - - - -
b . -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=0PTIMIZED --tentacle=no 10.09-ks, 100%
_}:{‘Th__::--' o
-.- =._ T ' - .’
. " rl,-’ i
" o
- L L,
", - - s
b . -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10.09-ks, 100%

. - 4 ,,__ L"-._L ot
| .,_'__ , %,
| .,\ '-,‘_1 " " . r
. - w -
A Yy, -, 4 -
i W e, Ty s .
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.00
0.75 - ©
2
0.50 —1 ®
-
0.25
0.00 Y. .y, ATy
000 000 0.000
202404251051 i 15T3’27A°§4 25“28 (00,00 719:00:0

Time (utc)
60-s bins

1.00
0.75 o e
o 2
.50 =]
3

0.25 o

0.00
00:00: 000 .00:00: 000 00" 00.000
2024-04 25;024 M zs;ég A0k~ 25113 25119
Time (utc)
60-s bins

1.00
0.75 o e
o 2
.50 =]
3

0.25 o

0.00
0
00000 00000 000000
207_4_0/; 25T024 04 25;(}’% 08~ 25T17? 425119

Time (utc)

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

60161400002 FPMB: No SAA Filter

10.09-ks, 100%

;-:{:}-.__::-ﬁ o
- " -
P
al i 5
A
5 - “ -
b . -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no  8.63-ks, 86%
;-:{:}-.__::-ﬁ o
_.-' S " 'fr.
-'1 i ra
. . L
. e
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 8.63-ks, 86%
-?‘f-.}r"'“-.’" T ]
- A T o -
. -.___ -, ~, rl,-’
- LN - -
_ Ta, Ma LY .
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



